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Records are kept by each state in the United States on the number of pupils enrolied in public schools and the
number of teachers emplayed by public schools for each school year, From these records, the ratio of the number
of pupils 1o the number of teachers (P-T ratio) can be calculated for each state. The histograms below show the
P-T ratio for every state during the 2001-2002 school year. The histogram on the left displays the ratios for the
24 states that are west of the Mississippi River, and the histogram on the right displays the ratios for the 26 states
that are east of the Mississippi River.
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{a) Describe how you would use the histograms to estimate the median P-T ratio for each group
Ao ¥ne H\Sﬁ(ﬁmm, (west and cast) of states. Then use this procedure to estimate the median of the west group and the
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{b) Write a few sentences comparing the distributions of P-T ratios for states in the two groups
Thr ,he pnedhaen (west and east) during the 2001-2002 school year.
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{c) Using your answers in parts (a) and (b), explain how you think the mean P-T ratio during the
2001-2002 school year will compare for the two groups {west and east).
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